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68.4| 68.8] 79| 17.2| 26.0| 15.8| 3.7 19| 17.7] 3.7 0.5
7.7 1,085 671 384 37 285 404 132 412 119 506 52 3
61.8| 35.4| 3.4| 26.3] 37.2| 12.2| 38.0| 11.0| 46.6| 4.8 0.3
8. AU 27 18 12 0 4 9 0 3 0 1 7 0
66.7| 44.4| 0.0| 14.8] 33.3] 0.0] 11.1 0.0l 3.7] 259 0.0
9. E5t 14 7 9 0 2 2 1 4 0 0 0 0
50.0| 64.3] 0.0| 14.3] 14.3]| 71| 286 0.0 0.0l 0.0 0.0
1k 87 57 35 2 5 14 5 16 2 32 10 0
65.5| 40.2| 23| 57| 16.1 5.7 18.4| 2.3| 36.8] 11.5] 0.0
> K (1) 466| 310 255 24| 124| 140 58| 123 38| 139 18 3
66.5| 54.7| 5.2| 26.6] 30.0| 12.4| 26.4| 8.2| 29.8] 3.9| 0.6
3Kk (28) 2741 167| 124 8 49 94 34 76 17 109 22 1
60.9| 45.3 2.9 17.9] 34.3 124 27.7 6.2] 39.8 8.0 0.4
2 |4 xm3m) 200 126 91 7 36 63 31 63 23 82 5 0
g 63.0] 45.5 3.5 18.0 31.5 15.5 31.5 11.5 41.0 2.5 0.0
S PSR 248 151 1M 12 50 80 33 76 21 85 9 0
% 60.9| 44.8| 4.8| 20.2| 32.3| 13.3] 30.6] 85| 34.3| 3.6] 0.0
-3
o lexzem 12 12 8 0 1 6 2 5 2 5 0 0
100.0| 66.7| 0.0] 8.3| 50.0] 16.7| 41.7| 16.7] 41.7] 0.0 0.0
7K (6 ) 19 13 8 0 1 6 1 9 1 4 0 0
68.4| 42.1 0.0 53| 31.6] 53| 47.4| 53| 21.1 0.0 0.0
SRS (1 25) 100 64 27 3 43 51 11 33 8 49 4 0
64.0] 27.0] 3.0| 43.0] 51.0] 11.0] 33.0] 8.0| 49.0] 4.0 0.0
O SGHAAZE(24) 110 66 9 1 35 60 12 39 12 47 9 1
60.0 8.2 09| 31.8] 54.5| 10.9| 35.5] 10.9| 42.7| 8.2 0.9
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1 2 3 4 5 6 7 8 9 10 11 12 13 14
& B b3 E) 5] il & b Y R B B B E2' z Fii3
%= # B4 & #t . 2 h& 2 B’ = = 2 =] n &
& K ES ES N E 3 . ~ . . . Fr fth &
=4 -3 5 4 Y H & e :
ES E 3 2 I I it ES 2
. 7 [ ] #t
= . P A .
b E 3 B
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LB =EIEE(N)
TE=tEE(%)
24 1,516 86 60| 163| 129 77! 113 82 140| 118| 404 60| 290| 327 122 19
5.7| 4.0 10.8] 85| 5.1 7.5| 54| 9.2| 17.8| 26.6] 4.0] 19.1 21.6| 8.0 1.3
14EE 3 0 0 0 0 0 0 1 1 0 0 1 0 0 2 0
0.0/ 0.0/ 0.0l 0.0| 0.0 0.0] 33.3] 33.3] 0.0/ 0.0] 33.3] 0.0 0.0 66.7| 0.0
25 3 0 0 0 1 0 0 0 0 0 2 1 1 0 0 0
0.0/ 0.0/ o0.0] 33.3] 0.0l 0.0/ 0.0 0.0l 0.0| 66.7] 33.3] 33.3] 0.0 0.0/ 0.0
3.pE 14 3 0 3 0 0 1 3 2 1 1 0 2 3 1 0
21.4| 0.0 21.4] 0.0/ 0.0 7.1| 21.4] 14.3]| 7.1 7.1 0.0 14.3| 21.4| 71| 0.0
4500 31 5 3 5 2 2 0 0 3 2 9 1 2 4 4 0
" 16.1 9.7] 16.1 6.5| 6.5 0.0 0.0 9.7 6.5| 29.0/ 3.2| 6.5| 12.9] 12.9] 0.0
5 |5.mm 124 15 11 33 9 4 3 5 16 5 32 2 28 17 5 0
i 12.1] 8.9| 26.6] 7.3] 3.2| 24| 4.0 12.9| 4.0| 25.8| 1.6] 22.6| 13.7| 4.0 0.0
6.00E 215 19 15 36 25 8 29 23 29 19 41 13 52 28 12 2
8.8] 7.0] 16.7| 11.6] 3.7 13.5| 10.7| 13.5| 8.8| 19.1| 6.0| 24.2| 13.0 5.6| 0.9
7 P 1,085 43 30 79 84 60 75 47 87 83| 312 40| 197 270 94 17
4.0 28| 73] 7.7 55| 69| 43| 80| 7.6] 28.8| 3.7 18.2| 24.9| 87 1.6
8. 27 1 1 4 3 1 3 1 0 5 5 1 8 4 4 0
3.7 3.7] 14.8] 11.1 3.7 11.1 3.7] 0.0| 18.5| 18.5| 3.7| 29.6| 14.8 14.8] 0.0
0.EH 14 0 0 3 5 2 2 2 2 3 2 1 0 1 0 0
0.0] 0.0 21.4| 35.7| 14.3| 14.3| 14.3| 14.3| 21.4| 14.3| 7.1| 0.0 71| 0.0 0.0
1k 87 8 4 26 7 1 1 4 10 3 23 2 14 15 5 0
9.2| 4.6] 29.9] 8.0 1.1 11| 4.6] 11.5| 3.4| 26.4| 2.3| 16.1| 17.2| 5.7| 0.0
2.K2(1 ) 466 40 25 51 39 19 47 29 38 20| 105 24| 115| 105 29 4
8.6 5.4| 10.9| 8.4 4.1 10.1 6.2| 82| 4.3| 22.5| 5.2| 24.7| 22.5[ 6.2| 0.9
3K (%) 274 15 10 26 33 17 20 21 31 16 72 13 63 64 23 4
55| 3.6/ 9.5| 12.0] 6.2| 73| 7.7| 11.3| 5.8| 26.3| 4.7| 23.0] 23.4]| 84| 1.5
% |4xmaE 200 10 10 24 17 17 18 11 23 30 52 8 46 25 21 1
g 5.0/ 5.0/ 12.0| 85 85| 9.0 5.5 11.5| 15.0| 26.0] 4.0| 23.0] 12.5| 10.5| 0.5
- s xzam 248 10 9 28 19 17 21 11 25 21 53 3 46 43 17 3
% 4.0 3.6| 11.3] 7.7 6.9| 85| 4.4| 10.1| 8.5| 21.4| 1.2| 18.5| 17.3] 6.9 1.2
=
5 |e.xz(5m) 12 0 0 0 0 0 0 0 0 0 11 0 0 1 0 0
0.0/l 0.0/ 0.0 00| 0.0 0.0] 00| 0.0/ 0.0} 91.7[ 0.0/ 0.0/ 83 0.0/ 0.0
7 K (65) 19 0 0 0 0 0 0 0 0 0 19 0 0 1 0 0
0.0/ 0.0 0.0l 0.0| 0.0 0.0| 00| 0.0/ 0.0/100.0f 0.0/ 0.0] 53 0.0/ 0.0
8 SR (1 ) 100 0 0 1 11 5 4 3 10 15 32 9 5 28 15 3
0.0/ 0.0 1.0l 11.0] 5.0 4.0] 3.0] 10.0] 15.0| 32.0/ 9.0/ 5.0| 28.0f 15.0| 3.0
0 S (22F) 110 3 2 7 3 1 2 3 3 13 37 1 1 45 12 4
271 1.8 6.4 2.7 09| 18] 2.7/ 27| 11.8] 33.6/ 0.9] 0.9 40.9] 10.9]| 3.6
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B3 AT RN D ESIC EDLSBRIEEBRLETH (EREET)
1 2 3 4 5 6 7 8 9 10 11 12 13
B 19 z f =] & Eil ft & i | # | TE| i
& b3 E # b * £ = £ a a9 JT T E ) El
& £ L ya) o) N =4 & n < ) o |38 | =
E24 n T =1 X e n S I & 8 & | 2%
& W W Y » = & W i Vil e R
3 3 Z 1= bl (A ) z < . < B
Z Z & (A i Z i} & = =) & =
& & #* ya & iz z iG] 3 H
= X n > 3 z &
T = T N % b N
» W = z & e
) z 3 & h -3
Z & Z & /4
& & 3 N
z e
& =
FE=EERN) bl
TE=LE(%) "
Jon 1,516| 727| 996| 564|1,708| 98| 84| s565| 197 76| 554| 187 155 15 1
48.0| 65.7] 37.2| 73.1| 6.5| 5.5| 37.3] 13.0| 5.0| 36.5] 12.3] 10.2| 1.0] 0.1
N—. 3 1 1 0 2 0 0 2 0 0 2 0 0 0 0
33.3| 33.3] 0.0] 66.7] 0.0] 0.0] 66.7] 0.0] 0.0] 66.7] 0.0 0.0 0.0] 0.0
2.5 3 2 1 2 3 0 0 3 0 1 2 0 0 0 0
66.7| 33.3] 66.7/100.0] 0.0] 0.0/100.0] 0.0] 33.3] 66.7] 0.0 0.0] 0.0/ 0.0
3.p 14 7 7 5 13 0 1 9 1 0 6 0 4 0 0
50.0| 50.0] 35.7] 92.9]| 0.0| 71| 64.3] 7.1| o0.0] 42.9] o0.0] 28.6] 0.0/ 0.0
P 31 17 16 16| 24 4 4 6 3 4 13 1 2 0 0
54.8| 51.6] 51.6] 77.4| 12.9| 12.9| 19.4| 9.7[ 12.9] 419| 3.2 6.5/ 0.0/ 0.0
; 5. B8 124 73| 80| 53| 99 12 12| 42 14 6| 53 8 3 1 0
s 58.9| 64.5| 42.7| 79.8] 9.7| 9.7| 33.9| 11.3| 4.8| 42.7| 65| 24| 08| 0.0
6.5 215 110| 144| 78| 161 22 19] 83| 29 9| 80 21 25 1 1
51.2| 67.0] 36.3| 74.9] 10.2| 8.8| 38.6] 13.5| 4.2| 37.2| 9.8| 11.6| 0.5 0.5
7. 1,085| 496| 730| 387| 773| 55| 46| 403| 147| 49| 380 156| 117 13 0
457 67.3] 35.7] 71.2| 51| 4.2| 37.1| 13.5| 4.5| 35.0] 14.4| 10.8| 1.2[ 0.0
8 UM 27 16 14 15| 23 3 0 13 3 2 15 1 2 0 0
59.3| 51.9] 55.6] 85.2| 11.1| o0.0] 48.1] 11.1| 74| 556| 3.7[ 74| 0.0 0.0
9.5 14 5 3 8 10 2 2 4 0 5 3 0 2
35.7] 21.4| 57.1| 71.4| 14.3] 14.3| 28.6] 0.0| 35.7| 21.4| 0.0| 14.3] 0.0] 0.0
1 ke 87| 38| 48| 31 64 11 5/ 31 9 10| 36 9 10 3 0
43.7| 55.2| 35.6| 73.6] 12.6] 5.7| 35.6] 10.3| 11.5| 41.4] 10.3] 11.5| 3.4] 0.0
2K (1) 466| 236| 305 179| 354 35| 27| 167| 47| 29| 194 43| 49 2 0
50.6| 65.5| 38.4| 76.0] 7.5| 5.8 358| 10.1| 6.2] 41.6] 9.2] 10.5| 0.4 0.0
3Kk 274| 142 201| 119| 197 15 9| 101 33 13| 106 27| 35 3 1
51.8] 73.4| 43.4| 71.9] 55| 3.3| 36.9] 12.0] 4.7| 38.7| 99| 12.8] 1.1| 0.4
% |axzcE) 200| 87| 126| 68| 141 6 8| 87| 34 71 67| 28| 23 0 0
B 43.5] 63.0| 34.0] 70.5] 3.0| 4.0| 43.5] 17.0| 3.5| 33.5] 14.0| 11.5| 0.0 0.0
*ji 5K (44) 248| 118 157| 66| 176 19 19| 93| 40 10| 77| 52 18 4 0
% 47.6] 63.3] 26.6| 71.0] 77| 7.7| 37.5] 16.1] 4.0] 31.0] 21.0] 73| 1.6] 0.0
; 6 A5 5) 12 8 8 5 9 0 2 2 0 0 2 0 0 0 0
66.7] 66.7| 41.7| 75.0| 0.0| 16.7] 16.7] 0.0 o0.0] 16.7] 0.0 00| 0.0/ 0.0
7 KE(6E) 19 12 13 9 1 1 4 6 1 0 9 0 1 0 0
63.2| 68.4| 47.4| 579| 5.3| 21.1| 31.6] 5.3] 0.0] 47.4] 0.0 53| 0.0 0.0
S IR (16F) 100 46| 73| 40| 78 5 3] 36 14 5 31 14 13 0 0
46.0| 73.0| 40.0] 78.0] 5.0| 3.0| 36.0] 14.0| 5.0| 31.0] 14.0] 13.0] 0.0 0.0
O SR (25) 10| 40| 65| 47| 78 6 71 42 19 2| 32 14 6 3 0
36.4| 59.1| 42.7] 70.9] 55| 6.4] 38.2] 17.3| 1.8] 29.1| 12.7] 5.5 27| 0.0
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1 2 3 4
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& 53] 5 5 8
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s e | B
w LY L

2 | =z
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5 5

5 | b

7

LY

LE=mEEH(N)
T = (%)

otk 1,516 553| 419 344 200
100.0| 36.5| 27.6| 22.7| 13.2
— 3 0 0 3 0
146E8 100.0| 0.0 0.0/ 100.0| 0.0
3 1 1 0 1
2.5t 100.0| 33.3| 333 o0.0/| 333
14 2 5 4 3
3. 100.0| 14.3| 357| 286| 21.4
- 3 3 5[ 11 12
I i 100.0| 9.7] 16.1| 35.5| 387
124 o 21 62| 32
ffﬂ 5B 100.0| 73| 16.9| 50.0| 25.8
215 17 45 97 56

6. 100.0| 7.9] 20.9| 451| 26.0
1085] 510 332 157| 86

7.7 100.0| 47.0| 30.6] 14.5| 7.9

I 27 6 5 9 '7

8.7LM 100.0| 22.2| 18.5| 33.3| 25.9

14 5 5 1 3
9.E5% 100.0] 35.7| 357 71| 21.4
- 87| 35| 14| 22 16
1. A%k 100.0| 40.2| 16.1| 253| 18.4
~ 466] 150] 117| 130 69
2RF0F) 100.0| 32.2| 25.1| 27.9| 148
— 274 74| 99 63| 38
o |3FFEP 100.0| 27.0| 36.1| 23.0] 13.9
, — 200[ 63 60| 45| 32
B |4RECEH 100.0| 31.5| 30.0| 22.5] 16.0
_ » 248 98] 58 59| 33
I R ) 100.0| 39.5| 23.4| 23.8| 13.3
Z " 12 5 6 1 0
5 |6FFE® 100.0] 41.7] 50.0| 83| 00
— 19 13 3 2 1
TRF(6F) 100.0| 68.4| 15.8| 10.5| 5.3
N 100]  50] 33] 12 5
8. AT (%) 100.0] 50.0] 33.0] 12.0] 5.0
. 0] 65] 29[ 10 6

o Hi il
9S8 (25) 100.0] 59.1] 26.4] 91| 55

36




5 FNNETESULZVWEBSERMEITIN. [{EHEE]

1 2 3 4 5 6 7 8 9 10
& £ # S & & & # g | mE| z =
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" & 12 F # 5 &
% Bf H L 3 5%
# 2N Ly I [i:1]
& & 3 T T
) 5 (A )
n F) 2
EEB=EEHN) 3 i
TFEE =L (%) &
24K 972 425 142 229 248 639 445 101 238 64 27
43.7| 14.6| 23.6| 25.5| 65.7 45.8] 10.4[ 24.5 6.6 2.8 0.2
1 4EE 0 0 0 0 0 0 0 0 0 0 0 0
2851t 2 1 0 0 0 0 0 0 1 0 0
50.0 0.0 0.0 0.0 0.0 0.0 0.0 50.0 0.0 0.0 0.0
3. 7 2 1 1 0 3 2 2 2 0 0
28.6| 14.3[ 14.3 0.0 42.9| 28.6] 28.6] 28.6 0.0 0.0 0.0
4.chig 8 0 0 0 3 6 4 1 1 0 0
" 0.0 0.0 0.0 37.5] 75.0] 50.0] 12.5] 12.5 0.0 0.0 0.0
&5 5,555 30 2 0 1 3 18 19 4 9 0 2
th 6.7 0.0 3.3 10.0f 60.0] 63.3] 13.3] 30.0 0.0 6.7 3.3
6.0 62 9 3 5 16 29 25 7 13 3 3 0
14.5 4.8 8.1 25.8] 46.8| 40.3 11.3] 21.0 4.8 4.8 0.0
7. /uE 842 411 135 222 220 575 386 81 210 60 21
48.8] 16.0| 26.4| 26.1 68.3| 45.8 9.6 24.9 7.1 2.5 0.1
8. UM 11 0 1 0 4 4 4 4 2 1 1
0.0 9.1 0.0 36.4| 36.4| 36.4| 36.4] 18.2 9.1 9.1 0.0
0. @k 10 0 2 0 2 4 5 2 0 0 0
0.0 20.0 0.0] 20.0] 40.0] 50.0] 20.0 0.0 0.0 0.0 0.0
1 A 49 24 4 8 9 27 22 17 14 0 2 0
49.0 8.2 16.3| 18.4| b55.1| 44.9| 34.7| 28.6 0.0 4.1 0.0
2. K8 (1) 267 110 30 65 47 166 123 15 69 10 7 2
41.21 11.2 24.3[ 17.6] 62.2| 46.1 5.6| 25.8 3.7 2.6 0.7
3K (25) 173 70 33 30 33 107 73 12 45 10 6 0
40.5] 19.1 17.3[ 19.1 61.8| 42.2 6.9 26.0 5.8 3.5 0.0
= 4.K2(3F) 123 52 23 37 40 93 63 12 39 13 3 0
&R 42.3] 18.7] 30.1 32.5| 75.6] 51.2 9.8 31.7[ 10.6 2.4 0.0
&
R 5. K2 (44E) 156 65 27 41 50 118 77 28 37 13 1 0
% 41.7] 17.3| 26.3] 32.1 75.6 49.4 17.9 23.7 8.3 0.6 0.0
=3
2 6. K2 (52) 11 6 1 2 4 8 5 1 3 2 1 0
54.5 9.1 18.2 36.4| 72.7| 45.5 9.1 27.3] 18.2 9.1 0.0
7K (G5E) 16 6 1 3 1 8 5 2 0 3 1 0
37.5 6.3] 18.8 6.3] 50.0f 31.3[ 12.5 0.0 18.8 6.3 0.0
8.AgHAA (15) 83 47 8 19 30 56 38 5 16 7 1 0
56.6 9.6 22.9 36.1 67.5| 45.8 6.0/ 19.3 8.4 1.2 0.0
0 5GHAAE (24F) 94 45 15 24 34 56 39 9 15 6 5 0
47.9] 16.0] 25.5] 36.2| 59.6( 41.5 9.6/ 16.0 6.4 5.3 0.0
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1 2 3 4 5 6 7 8 9 10 11 12 13 14 15
5] % & |v-& # X ] @ % i ] il A& | & I z i
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n 14 5 v B % #h &
n Va1 B 7 B ] B A
- EAS < [ & U + Bl
I 15 e % 1= “ B
LB=EERN) ¥ i mn & k =
TR =L (%) # 2 ®
o 972| 558 124| 111 190| 213 98| 129 353| 186 224| 305 110| 137 77 25 20
57.4| 12.8] 11.4| 19.5] 21.9] 10.1| 13.3] 36.3| 19.1| 23.0] 31.4] 11.3| 14.1 7.9] 26 2.1
1 mE 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
PR 2 1 0 0 0 0 0 0 0 1 0 0 0 1 0 0 0
50.0/ 00| ©0.0| 00| 00| 00| 00| 00| 500/ 0.0| 00 0.0| 500[ 0.0] 00] 0.0
3 7 4 1 2 3 3 2 2 4 2 2 4 2 2 1 0 2
57.1| 14.3| 28.6| 42.9| 42.9| 28.6| 286| 57.1| 286| 286| 57.1| 286| 286| 143 0.0] 286
P 8 2 1 0 2 3 1 1 1 2 0 0 1 0 1 0 0
25.0| 12.5| 0.0 250| 37.5| 125| 12.5| 125 250 0.0 0.0 125| 00| 125/ 00[ 0.0
ﬁ 5.7 30 18 3 1 9 10 7 5 11 7 5 10 4 3 3 0 0
# 60.0| 10.0| 3.3] 30.0| 33.3] 233| 16.7] 36.7| 23.3| 16.7] 33.3] 13.3] 10.0| 100/ 0.0] 0.0
6.5 62 36 7 6 21 23 6 13 24 16 8 19 6 6 2 2 1
581 11.3] 9.7[ 33.9] 37.1 9.7 21.0| 387 258| 12.9| 30.6| 97| 97| 32| 3.2 1.6
7. 842| 481 109| 100| 149 170 80| 104| 308 154| 207| 267 9| 124 67 23 17
57.1| 12.9| 11.9] 17.7| 20.2| 9.5| 12.4| 36.6| 183| 24.6| 31.7| 11.4| 147 80| 27| 20
8. 1 8 1 1 4 4 1 2 3 4 2 3 0 1 2 0 0
72.7 9.1 9.1] 36.4| 36.4 9.1] 18.2| 27.3| 36.4| 182| 27.3] 0.0 9. 18.2| 00| 0.0
0.t 10 8 2 1 2 0 1 2 2 0 0 2 1 0 1 0 0
80.0| 20.0] 10.0| 20.0| 0.0 10.0] 200[ 200| 0.0] 0.0 200 100/ 0.0 100| 0.0 0.0
K 49 14 3 2 11 12 4 5 8 11 7 15 5 4 3 5 3
28.6 6.1 41| 22.4| 245| 82| 102| 16.3| 22.4| 14.3| 306| 102| 8.2 6.1/ 10.2 6.1
2KE(15) 267| 160 43 18 54 51 23 371 116 55 73 84 26 35 20 5 7
59.9] 16.1 6.7] 20.2| 19.1 8.6| 13.9| 43.4| 206| 27.3| 31.5] 9.7[ 13.1 7.5 1.9] 26
3Kk (2E) 173 101 25 31 40 35 17 25 75 42 40 59 28 37 13 3 2
58.4| 14.5| 17.9| 23| 20.2| 9.8| 14.5| 43.4| 243| 231| 34.1| 16.2| 21.4| 7.5 1.7 1.2
2 |axz@E 123 70 17 27 36 37 16 27 52 32 32 38 17 20 2 2 0
B 56.9| 13.8] 22.0| 29.3| 30.1| 13.0| 22.0] 42.3| 26.0] 26.0] 309 13.8| 16.3 1.6 1.6] 0.0
*fi 5K (4E) 156 72 15 15 29 53 18 24 57 25 21 44 24 24 11 6 6
% 46.2| 9.6 9.6| 186| 34.0| 11.5| 15.4| 36.5] 16.0] 13.5| 28.2| 154| 15.4 7.1 38| 3.8
; 6. K2 (52) 11 3 0 0 4 2 1 1 4 1 1 6 0 2 0 1 0
27.3| 00| 0.0 36.4| 18.2 9.1 9.1] 36.4 9.1 9.1] 54.5| 0.0 182] 0.0 9.1 0.0
7K (65 16 1 1 0 0 4 4 1 5 4 0 6 1 1 0 0 1
63| 63| 00| 00| 250 250| 63| 31.3] 250/ 0.0 375 63| 63| 0.0| o00[ 63
AR (1) 83 56 6 9 9 10 11 5 23 9 29 24 5 9 14 0 1
67.5| 72| 10.8| 10.8| 12.0] 13.3| 6.0] 27.7| 10.8| 34.9| 289| 6.0/ 10.8| 16.9| 0.0 1.2
O KA (24F) 94 81 14 9 7 9 4 4 13 7 21 29 4 5 14 3 0
86.2| 149| 96| 74| 96| 43| 43| 138| 74| 223| 309| 43| 53| 149 32| 0.0
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